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Do they not argue?! — 9398 RY N

Overview

The X713 challenged the view of 71¥9& "1 (who maintains 2" are M in %1
Tamwi) from a X072 (cited by 7017 27) which states that 71" is 7¥M2 270
Tomwn. The X3 responds that there is another Xn»72 that disputes the
noY 277 ’n™13,' and X" follows the other ®n»93. Our Mmoo offers an
alternate solution to reconcile the 791> 277 Xn**72 (even) according to X"A.
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The X713 could have established the Xn>72 of "' in a case where neither
of the partners had permission to bring their oxen into this (jointly owned)

2x1; and (only) one partner had permission to store 1% in the *%r. In such a
situation, T1Y9X " would agree that the p>1n is 211 (even though it is a 1"2nWw: em).t
mdoIn does not answer this question.”

Summary
The & 1) could have established the &n>12 of > in a case where neither had

mwA for MW and the 171 had mwA for ms.

Thinking it over
1. Is moon question according to the X0 of “»%5 X7 "nY, or (also)
according to the X073 of x5 71'?°

2. What would be the w1711 of the &n>72 if the X3 would use the Xn2PR of
mooin?’

' See previous (1371 7"7 2,3°) Mo where there are two versions of this answer. "»y. See “Thinking it
over’ # 1.

2 1t is a o'anwa 0z for both partners own it; however their use is limited to walking there, etc.; but not to
bringing in any livestock or store N17°0 (except for one partner who may store m7°0). See "1 R"wAnn.

? In the following X% 7"7 MooIN; the N1 explains the Xn™92 of X"2wA in the abovementioned manner.

* The advantage of this Xn»°PX is that X" could follow the view of both n1n™92 (even the Xn»72 of 701" 27).
> See p"nuw.

® See footnote # 1. See »"m1.

7 See X5 MIX 7"o10.
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